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QUESTION 1

Data compression uses what other feature to reduce the amount of capacity a LUN uses? 

A. Thin provisioning 

B. FAST VP 

C. FAST Cache 

D. Deduplication 

Correct Answer: A 

 

QUESTION 2

A customer is replicating from a single source VNX to two remote VNXs using VNX Replicator. The customer has a
requirement to restore a file system on the source VNX to the same point in time from either of the secondary VNXs. 

Which VNX replication solution should you discuss with your customer? 

A. One-to-Many with Incremental Attach 

B. One-to-Many 

C. Cascading 

D. Many-to-One 

Correct Answer: A 

 

QUESTION 3

A customer has a requirement for backups of VNX Pool LUNs but is concerned about impacting performance on the
production LUNs. 

How can the impact on performance be minimized? 

A. Create VNX Snapshot of production LUN Mount VNX Snapshot on backup server 

B. Create SnapView clone of production LUN Mount VNX Snapshot of clone on backup server 

C. Create MirrorView clone of production LUN Mount MirrorView clone on backup server 

D. Create SnapView Snapshot of production LUN Mount SnapView Snapshot on backup server 

Correct Answer: B 

 

QUESTION 4

Latest E20-545 Dumps | E20-545 VCE Dumps | E20-545 Practice Test                                2 / 6

https://www.certbus.com/e20-545.html
https://www.certbus.com/e20-545.html
https://www.certbus.com/e20-545.html


https://www.certbus.com/e20-545.html
2024 Latest certbus E20-545 PDF and VCE dumps Download

A customer would like to capture a NAR file with 26 hours of data outputted by Unisphere. What should the archive
interval be set to? 

A. 600 seconds 

B. 300 seconds (default) 

C. 60 seconds 

D. 1200 seconds 

Correct Answer: A 

 

QUESTION 5

What is the default cache page size in KB on a VNX? 

A. 8 

B. 16 

C. 2 

D. 4 

Correct Answer: A 

 

QUESTION 6

From Unisphere, a Storage Administrator created an NFS export and alerted a user that the exported file system was
ready to be mounted. The user was able to access the export but was not able to write to the export. 

Which step would likely resolve the issue? 

A. Ensure the host IP is entered into the correct NFS export host table. 

B. Ensure the server is rebooted after the NFS export is presented. 

C. Ensure the NFS export is correctly identified and mounted. 

D. Ensure firewall rules do not block access to the NFS export from the host. 

Correct Answer: A 

 

QUESTION 7

A customer plans to connect a new Windows 2012 host to a new VNX array. The customer\\'s application requires
LUNs that are aligned at 1024 blocks. 

What should you advise? 
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A. They will need to manually align the volumes. 

B. No action is needed. Partitions are aligned at 1024 blocks automatically. 

C. No action is needed for basic disks. Dynamic disks require alignment. 

D. No action is needed for dynamic disks. Basic disks require alignment. 

Correct Answer: A 

 

QUESTION 8

A customer maintains a mission-critical database with a small transaction logging file. The customer would like to have
the transaction log share array resources with other applications while maintaining a specified response time for the
database. What Unisphere Quality of Service control mechanism will provide the necessary functionality? 

A. Limits 

B. Cruise control 

C. Fixed queue depth 

D. Round robin 

Correct Answer: B 

 

QUESTION 9

What is one of the benefits of using VDM for load balancing on a VNX? 

A. Portability of CIFS servers between physical Data Movers 

B. Round robin access of CIFS servers between Data Movers 

C. Round robin access of CIFS shares between Data Movers 

D. Portability of CIFS shares between physical Data Movers 

Correct Answer: A 

 

QUESTION 10

Which drive type benefits least from enabling FAST Cache? 

A. Flash 

B. NL-SAS 

C. SAS 

D. SATA 
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Correct Answer: A 

 

QUESTION 11

In a SnapSure implementation of a 20 GB production file system, what is the default SavVol configuration? 

A. 20 GB from the Reserved LUN Pool 

B. 64 MB from the Reserved LUN Pool 

C. 20 GB from the same pool as the production file system 

D. 64 MB from the same pool as the production file system 

Correct Answer: C 

 

QUESTION 12

In order to ensure that role-based access is enforced, the VNX storage domain has implemented two administrative
groups called Auditors and Storage Admins. One of the administrators is a member of both groups. What access to
objects will that administrator inherit? 

A. The least restrictive privilege established by the two groups 

B. The most restrictive privilege established by the two groups 

C. The first group that the administrator joined 

D. The last group that the administrator joined 

Correct Answer: A 

 

QUESTION 13

What must be available before creating a CIFS server? 

A. Windows domain controller 

B. WINS 

C. LDAP 

D. VNX CIFS service 

Correct Answer: D 

 

QUESTION 14

Multiple VNX systems are being deployed into an enterprise environment. The storage systems are being allocated to
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different departments within the enterprise. In addition, the storage system will be managed within each individual
department. Which management configuration is recommended for this environment? 

A. Configure explicit management accounts on each VNX per department 

B. Configure role-based management common to all VNXs in the enterprise 

C. Configure LDAP scope authentication for all VNXs in the enterprise 

D. Configure the VNX systems within a single Unisphere Storage Domain 

Correct Answer: A 

 

QUESTION 15

You are trying to create a virtual network device in Unisphere under Settings > Network > Settings for File > Devices >
Create. 

Why is the physical device not displayed? 

A. The device is already used. 

B. You do not have permission to create devices. 

C. The physical device is faulted. 

D. There is no network cable plugged into the physical device. 

Correct Answer: A 
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